11

13

15

17

113614 —

46702 —
102972 —
171843 —

115861 —
62947 —
83766 —

111863 —

156928 —
71898 —
128517 —
43108 —

200477 —
69074 —
31670 —

134719 —

39203 —
92065 -
151068 —
173259 -

172706 —
176641 —

75329 -
149865 —

43244 —
122516 —
167618 —

45446 —

46579 —
67708 —
150069 —
191165 —

147325 —
69575 —
144830 —
69323 —

KETTENRECHNUNGEN SUBTRAKTION

11821 —
1482 —
14274 —
4098 —

9783 —
10841 —
3132 -
15607 —

15881 —
9785 —
14552 —
6614 —

14967 —

2754 —
11420 —
12948 —

10686 —
1334 —
4398 —

13317 —

7940 —
6952 —
4794 —
1716 —

14740 —
2560 —
11848 —
3155 —

6205 —
5257 —
7648 —
8023 —

7051 —
7195 —
8654 —
8300 —

5264 —
10706 —
1393 -
10340 —

5957 —
1253 —
4154 —
15228 —

13666 —
14400 —

4200 —
15839 —

10390 —
2098 —
2845 —

11295 —

6727 —
11048 —
8356 —
8008 —

10659 —
4639 —
4415 —
1090 —

4725 —
1898 —
5708 —
10726 —

1593 —
14333 -
7631 —
9447 —

2913 —
14593 —
8231 —
15058 —

14860 = 2 72475 -
5180 = 63044 —
6219 = 82359 —
8871 = 175301 -

12791 = 4 159547 —

13898 = 139385 —
5961 = 88906 —

13209 = 65771 —
3880 = 6 147561 —

14007 = 157431 -
5892 = 62439 —
6026 = 59001 —

15734 = 8 57284 —

14293 = 54024 —
5561 = 157614 —

10530 = 36299 —

11438 = 10 72285 —
3226 = 135425 —
3144 = 80879 —
4112 = 100226 —

11889 = 12 84228 —

11073 = 66263 —
4157 = 41903 —
6911 = 106315 —
8747 = 14 127377 —
7131 = 136548 —
9619 = 57189 —

14122 = 182238 —
1480 = 16 90431 —

11488 = 98741 —
2174 = 140077 —

15611 = 56329 —

11132 = 18 76701 —
8323 = 156671 —

15122 = 95520 —

13925 = 91378 —

15226 —
7140 —
2190 -
5436 —

11191 -
15608 —
14967 —

3488 —

5388 —
14116 —
14999 —

9958 —

1701 -
13589 —
11855 —

1855 —

7393 —
6349 —
15541 —
12021 -

6362 —
8683 —
7505 —
12903 —

8894 —
9196 —
8653 —
12500 —

14582 —
3162 —
7088 —
9314 —

3773 —
10926 —
11165 —
11261 —

7234 — 7235 =
13048 — 4943 =
5861 — 12250 =

14737 — 14217 =

5922 — 6509 =
14728 — 3760 =
1469 — 2570 =
15792 — 5704 =
7809 — 6742 =
11845 — 6344 =
13018 — 12414 =
1514 - 5220 =
5722 — 5381 =
15232 — 6640 =
5371 — 3467 =
4931 — 3533 =
1596 — 7974 =
13217 — 11113 =
8371 - 2218 =
12682 — 5186 =
7548 — 7432 =
2194 — 6628 =
11059 — 9754 =
11538 — 9769 =
13371 - 6244 =

13936 — 11400 =

11523 -

2377 =

12559 — 14194 =

8069 —
12632 —
15922 —

5589 =
1918 =
7401 =

15318 — 10714 =

11902 —

9853 —
11957 —
15249 —

7690 =
8834 =
9949 =
5465 =
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KETTEN SUBTRAKTION

1

11

13

15

17

81669
29334
81086
148534

87330
36955
70519
67819

123501
33706
103873
14629

159386
49929
11844
99946

10352
76457
135170
147822

142218
153977

61963
140148

15032
110927
140443

17443

37301
36630
132616
158084

126229
39464
112823
32040

2

10

12

14

16

18

42780
37913
62058
140911

135925
105289
69900
40787

127622
125126
22008
42309

44480
18563
136921
25980

55322
104746
54749
70337

62886
48758
13585
72105

98868
102016
34636
142985

62191
81029
109666
20983

53336
127058
62449
59403
0




